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- ¢1-A: Is he a generous boy? B: Yes, he ...
V) exchanges money Y) donates blood
) sends an email £) hires a taxi

¢o - That helpful girl usually helps his mother. She ...
V) watches fireworks Y) sings the national anthem

¥) goes out on Nature Day ¢) sets the table

£1- Which place is in the street and you can buy something from it?
') mosque Y) newsstand ) library t) emergency room

V- A: Excuse me, Where is my room?  B: I don't know. You can ...

V) talk to the receptionist Y) check the timetable

¥) recharge the E-ticket £) do voluntary work

¢A- Zahra ... a plaster because she had an accident.

V) taught Y) sang ¥) bought ¢) drew

£4) At Who ...occocooececeveeennnne.. the children?  B: The fire fighters ..................... them.

-1) help-helps Y) helps-helps ¥) help-help ¢) helps-help
©.) There ........ many students in the class and there are ........................ there, too.
V) are-important things Y) is-important things

¥) are - important thing t) is - important thing
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